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QUESTION 1

A VM on the Vblock System 320 is unable to communicate on the customer network. When examining the virtual
machine, you notce it has the same port group as the other VMs on the same ESXi server. Which acton must you
perform to resolve the problem?

A. You must reboot the VM.

B. You must restart the network agents on the ESX server.

C. You must verify that the VM\\'s network adapter is connected.

D. You must install the Nexus 1000V agent on the virtual machine.

Correct Answer: C

QUESTION 2

You are implementng 32 new UCS B230 M3 blades into an existng Vblock System with 16 blades. Afer
powering the new blades on, and migratng them to the Cisco Nexus 1000V, you notce that half of the new
blades no longer respond to any network trafc.

What is the cause?

A. There is insufcient vSphere licensing to license the new hosts.

B. There is insufcient Cisco licensing to license the new hosts.

C. The network drivers need to be updated.

D. The Cisco Nexus 1000V is limited to 32 hosts.

Correct Answer: B

QUESTION 3

You are adding an NFS volume to an ESXi host. Which three steps are required? (Choose three.)
A. Create a vmkernel interface on the ESXi host.

B. Create a network label to identfy the connecton.

C. Choose the NFS folder name in the format volmountsdatastorel.

D. Choose Network File System as the storage type.

E. Assign a VSAN to the vmkernel interface.

Correct Answer: ACD
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QUESTION 4

Which three statements are correct about vApps? (Choose three.)
A. vCenter is required.

B. vApps contain virtual machines.

C. vApps defne resource setngs.

D. vApps specify virtual machine failover.

E. vApps include virtual vSwitch confguratons.

Correct Answer. ABC

QUESTION 5

While reviewing the Vblock System 320 confguraton, you verify the physical NIC mode is confgured for
failover for a teamed vSwitch.

Which mode would be used to confgure the NICs?

A. actve

B. passive

C. promiscuous

D. unused

Correct Answer: A

210-015 Practice Test 210-015 Study Guide 210-015 Braindumps

210-015 Practice Test | 210-015 Study Guide | 210-015 Braindumps 3/3


https://www.passapply.com/210-015.html
https://www.passapply.com/210-015.html
https://www.passapply.com/210-015.html
http://www.tcpdf.org
https://www.passapply.com/210-015.html
https://www.passapply.com/210-015.html
https://www.passapply.com/210-015.html

